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Admit
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CSIR-CENTRAL ELECTRO CHEMICAL RESEARCH INSTITUTE, KARAIKUDI.

Recruitment for the Post of Junior Secretariat Assistant (G/F&A), Advt. No. 01/2019

Total Time Allowed : 2 hours 30 minutes : Total Marks : 500

Read the following instructions carefully before you begin to answer the questions.

10.

3
12.

13.

IMPORTANT INSTRUCTIONS

Candidate will be supplied with Paper I Question Booklet 10 minutes before commencement of the Competitive Written Examination.

The Competitive Written Examination has the following two papers :
Paper I (Time Allotted — 90 minutes)

Subject No. of Questions Maximum Marks Negative Marks

200
Mental Ability Test 100 (two marks for every correct
answer)

There will be no negative marks in
this paper

Paper II (Time Allotted — 60 minutes)

Subject No. of Questions Maximum Marks Negative Marks

150
English Language 50 (three marks for every
correct answer)

One negative mark for every wrong
answer

150
General Awareness 50 (three marks for every
‘ correct answer

One negative mark for every wrong
answer

The schedule of Written Examination is as follows, for which the Candidates will be provided Question Paper and separate OMR Answer
Sheets : x !
Paper I — between 09:30 A.M. and 11:00 A.M.

Paper I — between 11:15 A M. and 12:15 P.M.

Question Papers and OMR Answer Sheets will have to be returned to the Invigilator after end of Paper I & Paper II.

No candidate will be allowed to leave the Examination Hall before completion of both Paper I and Paper I1

Prior to attempting to answer, candidates are requested to check whether all the questions are there in series and ensure there are no
blank pages in the Question Booklet. In case any defect in the Question Booklet is noticed, it shall be reported to the Invigilator
immediately and get it replaced with a complete new Question Booklet.

Candidate must write their Admit Card No. in the space provided on the top right side of this page. Do not write anything else on the
Question Booklet.

Each question comprises four responses (A), (B), (C) and (D). Candidates are to select ONLY ONE correct response and mark in the
OMR Answer Sheet. The total marks will depend on the number of correct responses marked by the Candidate in the Answer Sheet.
In the OMR Answer Sheet there are four circles@,,@ and (@) against each question. To answer the questions candidates are to
mark with Blue or Black ink Ball point pen ONLY ONE circle for each question. If more than one answer for one question is
circled, the answer will be treated as wrong. e.g. If for any item, is the correct answer, candidate have to mark as follows :

@900

Candidates should not remove or tear off any sheet from this Question Booklet. Candidates are not allowed to take the Question
Booklet and the Answer Sheet out of the Examination Hall. =

Do not make any marking in the Question Booklet except in the sheet(s) at the last page of the Question Booklet, which
can be used for rough work. :

In all matters and in cases of any doubt, the English version shall be final.

Failure to comply with any of the above instructions will render the candidate liable to such action or penalty as may be decided by the
Competent Authority, CSIR-CECRI.

I have read the instructions given above and in the Advt. No. 01/2019 and a.gree to the same.

Invigilator’s Signature Candidate’s Signature with date
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1. T4 %0 § 31 FH 91 98 A 8 : YEB, WFD, UHG, SKI, .....7
(A) QOL : (B) QCL (@& TOL (D) QNL

oy =4 U o M F97 31 8: DEF, HIJ, MNO, ?
(A) STU (B) RST (C) RTV (D) SRQ

3. fe Tt ffdea w4, MADRAS %! NBESBT % ®q # #ifsa fFan omn 8, o 3@ ww 4
BOMBAY ! %& wifea foan Smam e

(A) CPNCBX (B) CPNCBZ (C) CPOCBZ (D) CQOCBZ

4 af GIVE 9 5137 3 BAT % 924 % &1 # Hifsa fn o101 2, &1 GATE %1 & Hifea
ST ?
(A) 5427 (B) 5724 (C) b247 (D) 2547

5. u Rfeaa B # ORIENT #1 532146 3 SOUL 1 7598 feran e 21 36 #is § LINE #1 32
foran s 87 '

(A) 9241 (B) 8341 () 8241 (D) 6241

6. s fiffaa #is # JEALOUS #t BFKKTVP fo@n siam 21 38 #ig § HEARTEN ! @ feran
AT a7 ]

(A) OFUQBFI (B) BFIQOFU (C) BFIQUFO (D) UFOQIBF

7. 3f¢ EARN #% &5t RANE ¥ 2 3t BOND &1 #8949 NODB@%,'a‘r:«reﬁmTEARﬂéa‘aﬁmﬁ
e : -
(A) AERT (B) ATRE (C) ARET (D) REAT

8. ﬁm%ﬁgﬁwﬁé?ﬁq@ﬁﬁaam@m%m;%ﬁn@mﬁéiﬁﬁﬁﬁ?m-sﬂmé
Hafyd T8l 87

a) VT (B) MK (C) DB (D) KH
g frofufed 9n i @ 99 o Pt €9 § 9UW §, 3d: T 998 S 3| F ¥ $ 91 36 WY 4

weifed T8 27
(A) RPN LB WSU (C) HDF (D) LHJ
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Paper -1
MENTAL ABILITY TEST

Which terms comes next in the series: YEB, WFD, UHG, SKI, ...?
(A) QOL (B) QCL €3 TOL: = (D) QNL

What comes next : DEF, HIJ, MNO, ?
(A) STU (B) RST 2y RTV (D) SRQ

If in a certain language, MADRAS is coded as NBESBT, then how BOMBAY will be coded
in the language

(A) CPNCBX (B) CPNCBZ (C) CPOCBZ (D) CQOCBZ

If GIVE is coded as 5137 and BAT is coded as 924, then how is GATE is coded?
(A) 5427 B) 5724 (C) 5247 - . (D) .2547

In a certain code ORIENT is written as 532146 and SOUL is written as 7598. How is LINE
written in that code?

A) 9241 (B) 8341 (C) 8241 (D) 6241

In a certain code, JEALOUS is written as BFKKTVP. How is HEARTEN written in that
code?

(A) OFUQBFI (B) BFIQOFU (C) BFIQUFO (D) UFOQIBF

If EARN is related to RANE and BOND is related to NODB, then in the same way TEAR is
related to

(A) AERT (B) ATRE (C) ARET (D) REAT

Three of the following four are alike in certain way and so form a group. Which is the one
that does not belong to the group?

A VT (B) MK (C) DB (D) KH

Three of the following four are alike in certain way and so form a group. Which is the one
that does not belong to the group?

(A) RPN (B) WSU (C) HDF (D) LHJ

3 JSA-I
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10.

foreht fm wiw ¥ g $9 v Fwi fgw ¢ F
hapllesh 1 34 cloudburst
srenchoch %1 319 pinball

resbosrench &1 3% ninepin

~ fopm Wt %1 319 “cloud nine” &1 el 87

11

12.

13.

14.

15.

16.

37,

18.
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(A) leshsrench (B) ochhapl (C) haploch

Tt fm o & g Fo v Fw g e )

moolokarn 1 31 blue sky

wilkospadi &1 31?f bicycle race

moolowilko %1 374 blue bicycele

fopft w12 1 31 “racecar” B THal 27

(A) wilkozwet (B) spadiwilko (C) moolobreil

|H &A1 714 i : 1, 6, 15, (2), 45, 66, 91
A 25 B) 26 Q) 27

| T | Hi : 5, 9, 18, 34, 59, 95, ?
A) 272 (B) 168 (C) 144

IH &A1 714 I : 3, 4, 12, 2, 196
(A) 45 (B) 40 © 4

Y &A1 7 S : 3, 6, 18, 72, ()
(A) 144 B) 216 (C) 288

T HH i ot i et 8 ¢ 1/2, 3/4, 5/8, 7/16, (7)
(A) 10/17 (B) 11/34 (C) 9/32

5+ 5.556+ 0.5 +55.05+555="7
(A) 621.10 (B) 631.10 (C) 585.55

1x0.01+10+0.01=7? :
(A) 0.011 (B) 0.0101 (©) 0.11

D)

D)

D)

(D)

@)

(D)

D)

D)

D)
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haplresbo

spadivolo
28

148

49

360

12/35
595.55

0.101
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Here are some words translated from an artificial language.

hapllesh means cloudburst
srenchoch means pinball
resbosrench means ninepin

Which word could mean "cloud nine"?

(A) leshsrench (B) ochhapl ©

Here are some words translated from an artificial language.

moolokarn means blue sky
wilkospadi means bicycle race
moolowilko means blue bicycle

Which word could mean "racecar"?

(A) wilkozwet (B) spadiwilko (©)

Find the missing number :

A 25 (B) 26 ©

Find the missing number: 5, 9, 18, 34, 59, 95, ?
A 272 (B) 168 (®)]

Find the missing number : 3, 4, 12, ?, 196
(A) 45 (B) 40 ©)

Find the missing number : 3, 6, 18, 72, ( ?),
(A) 144 B) 216 (©)

1, 6, 15, (?), 45, 66, 91

Which fraction comes in the next sequence : 1/2, 3/4, 5/8, 7/16, (?)

(A) 10/17 (B) 11/34 (©)

5+ 5.55 + 0.5 + 55.05 + 555 = ?
(A) 621.10 (B) 631.10 (©)

1x0.01+10+0.01=7
(A) 0.011 (B) 0.0101 ©

hagloch . (D) haplresbo
moolobreil (D) spadivolo
27 (D) 28
144 (D) 148
a1 D) 49
288 D) 360
9/32 (D) 12/35
585.55 (D) 595.55
0.11 (D) 0.10 1'
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4+4.44+ 0.4+ 44.04 + 444 =7
(A) 497.24 (B) 487.66

11113114 11:2111 + 1.1+ 11, 3l =
(A) 1234.432 (B) 1132.831

0.01 x0.1-0.001 +10+0.01="7?

(A) 0.0109 (B) 0.0101
1975 — 25% =
(A) 3900000 (B) 3852500

9752 + 250 % 125 —125% =
(A) 160000 B) 158525

'qﬁ(x—y)ﬂ 30%=(x+y)?ﬂ20%%,?ﬁ x 1 Topea wfewma y 27

(a) 20 B) 25

10% 30T 5% Y &1 SHATT B2

A)  15% (B) 12%%
50 =1 fepa foerd 0.125 272

(A) 0.2% (B) 0.25%

afe 2=1,8=4,4=7,65=10% 7.=?
A 12 (B) 14

©)

©

(©

©

©

©

©

©

©

496.88
1254.282

0.19

3882525

124000

24

#1 THd g F IE 3|

14%

0.125%

16

(D)
@)
D)

(D)

(D)
(D)
D)
)

D)
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469.88
1311.121

0.109

3975125

142555
30
14%%
1%

18

afe et Y HIoH T I, A FI IH bl I, JA H FEW Fel A, A H R BET A,

@t fr= H § foew W e I 87
@A) = (B) WA

©)

AT

(D)

98

Ses, T 1 W 2 @, e H wed 21 W, Y@ 9F B1 G v ¥ R ey 27

(A) (B) WS

A) =& (B) T

©

At

(C) dufd

D)

T

CHAMAYMBFTEDRIAFIMEERI IR DA 9 CR, M BFHE & F01 d5d 87
(D) wnft
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4+444+04+44.04+444=7
(A) 497.24 (B) 487.66 (C) 496.88 (D) 469.88

1111.111 +11.111+ 1.1+ 111.11 =
(A) 1234.432 (B) 1132.831 (C) 1254.282 (D) 1311.121

0.01 x0.1-0.001+10+0.01=7

(A) 0.0109 (B) 0.0101 (C) 0.19 (D) 0.109
1975% — 257 =
(A) 3900000 = (B) 3852500 (C) 3882525 (D) 3975125

275% + 250 x 125 - 1252 =
(A) 160000 (B) 158525 (C) - 124000 (D) 142555

If 30% of (x —y) = 20% of (x + y), then what percentage of x is y?
(A) 20 (B =25 T2, (D) 30

Two successive discount of 10% and 5% are equivalent to a single discount of
A) 15% B) 12%% (C) 14% D) 14%%

The number 0.125 is what percentage of 50?

(A)  0.2% (B) 0.25% (C) 0.125% D) 1%
i i3

i2=13=48 =7, 5= 18 then §=?
Aa 12 B) 14 (©) 16 (D) 18

If water is called food, food is called tree, tree is called sky, sky is called wall, on which of
the following grows a fruit?

(A) Water (B) Food (C). Sky (D) Tree

Deepak is brother of Ravi. Reka is sister of Atul. Ravi is the son of Reka. How is Deepak
related to Reka?

(A) Son (B) Brother (C) Nephew (D) Father

Ais ‘t_he father of C and D is the son of B. E is the brother of A. If C is sister of D, how is
B related to E?

(A) Daughter (B) Brotherin Law (C) Husband (D) Sister in Law

7 JSA-I
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31, CHPMARINBHFADABHTECRIDFA I RN T 8?

(&) (B) dra (OREAGE (D) w8
32. TH AT A, B, C, D 3R E ui= & &, R 30 -3 21 A, Ha B ¥ 81 21 C, D § = 1
2 ‘
| DR B Ad sl FaAddwR c A e 87
(A) Had A 3R B (B) Fa@E, B XA
(C) *aad A IR E (D) 9 E AR B

33, I IR IqE T H TH U6 H, A 99 ¥ 159 W WG 2 70 B IE ¥ 94 W W L Rl
C, A 3R B % 3% o= & g8l § wed W W Tl 2 URe § @2 S Hit Fa e haft 27

A 21 (B) 18 () 17 ») 19

34. = H g 8 weR 50 o T foRE o gl Bt {7

(A) 15° (B) 224%° (©) 35° (D) 45°
35. 15 3, 2010 I AR ?
(a) teEr (B) WTHAR (C) TEER (D) wfER

36. 5 ucHEl 6 U ity § 6 qEN 3 5 Aleenadl w1 w7 e aliel & R 1wt 2 6 3 ged i
- 2 Higenait = @y wfufa 1 7 fFm 5w

(A) 200 (B) 144 (C) 54 D) 72

]

27 e R 3 fe o A B R B @ 3§ 80 1 S 3 1w 200 &1 R i £
(A) 20 Bl U 4 (C) 50 (D) 60

38. Afe 31w dmaR 2, 1 61 et % =g ®= @ g7 e
(A) TR (B) wfEw (C) HTeER (D) TRER

39. uw fea #f foret s ug <A gt el Y #, A Reda fom d 2t 22
(A) 20 (B) 22 ©) 24 (D) 48

40.  EHU U W I 15kmstrf§*?anaﬁrafrzaa1,ﬁ;{arrigsmmkmswmstastﬁﬁaﬁxgsaﬂ
25 kms =ell 37T 37d & 91C GEH 20 kms = 98 T 2 Y o1 g 7

(A) 05 kms - (B) 10 kms (C) 40 kms (D) 80 kms

JSA-I 8
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A is the father of C and D is the daughter of B. C is the brother of B. How is D related to A?

(A) Grand daughter (B) Grandson (C) Grandfather (D) Brother

Consider five people A, B, C, D and E each having different age. A is younger than only B.
C is older than D. D is not the youngest. Who amongst the following are older than C?

(A) OnlyAandB s (B) OnlyE, Band A
(C) Only A and E (D) Only E and B

In a row of children facing north, A stand 15% from the left and B stands 9t from the left.
C who stands exactly between A and B is Tt from the right. What is the total number of
children standing in the row?

A) 21 (B) 18 o 17 (D) 19

At what angle are the hands of a clock inclined at 50 minutes past 8?

(A) 15° (B) 22%° SO 35° (D) 45°
15t August, 2010 will fall on —?
(A) Sunday (B) Tuesday (C) Thursday (D) Saturday

In how many ways, a committee of 5 members can selected from 6 men and 5 ladies
consists of 3 men and 2 ladies can be formed?

(A) 200 (B) 144 (C) 54 (D) 72

There are deer and peacocks in a zoo. By counting heads they are 80. The number of their
legs is 200. How many peacocks are there?

A 20 (B) 30 (©) 50 (D) 60

If today is Monday. After 61 days, it will be:
(A) Wednesday (B) Saturday (C) Tuesday (D) Thursday

How many times in a day, are the hands of a clock in straight line but opposite in direction?
A 20 B) 22 © 24 (D) 48

Lakshman went 15 kms to west from his houlse, then turned left and walked 20 kms. He
then turned East and walked 25 kms and finally turning left covered 20 kms. How far is he
from his house? -

(A) 05kms (B) 10 kms (C) 40 kms (D) 80 kms

9 JSA-I
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Frferfiaa e St ST B U3 37 39 S o TR 0 9y (41445) FIWaI

tﬁﬁ?ﬂﬁﬁP,Q,R,Sﬁ?T%l@gﬁﬁHm%,Emﬁiﬂ@%ﬁ.@ﬁﬁm%lP
3R S sfyefea afterd ¥ s feedt ft @ & A St ) B ot wleen v @ Gt TE wed
2| u Fafed et & Rl T ofd 81 R %1 9 Q 2 3R 98 7 voiw Raemdt @ 3 A & iRt

flgarel 21

Geate Raeel H 27

@A P B Q (©)
Bieh! flaardl 9 87

A P B) Q ©)
yats flgardt = 27

@ P B Q (©)
T geft B 272

A P B Q -~ ©)
7 wfeemd == 27

A) P,QR B) QRS (C)

Frerferfiaa ST i S 8 UE o A= fRu o uwEl (9. 46-49) I A

P,Q,S

(D) S

D) T

(D) S

O RS

A, B, C,D,E,F, G 3t H % ga % 9l 371 &g 6 3% 7@ F 93 &) B,Da;aﬁéagn%,ah
G rPHTH AR CAS TR AR, NG F 5 a8 4 @0 21 G, E % g & i 2

H¥ el Qdeu == 27

(A) A (B) E ©)
A% 3 Tl HH FAT 27

A) B B) H (C)
A3 G F 6w e 8 €7

A 1 B) 2 (©)
E% a0 § @iaq a4 87

A C (B) B (©)

10

® C

M) D

D) 4

D) G
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Study the following information and answer the questions (41-45) based on the
information.

There are five persons P, Q, R, S and T. One is football player, one is chess player and one
is hockey player. P and S are unmarried ladies and do not participate in any game. None of
the ladies plays chess or football. There is a married couple in which is T is the husband.
Q is the brother of R and is neither a chess player nor a hockey player.

Who is the football player?

A P B Q (© R M) S
Who is the hockey player?

A P B) Q © R D) S
Who is the chess player?

A P B Q © R @ T
Who is the wife of T?

Ay P B Q © R D) S

The three ladies are :
A P,QR B) QRS ) P, QS . M) P,RS

Study the following information carefully and answer the questions (No. 46-49)
given below : i

A B,C,D E F, Gand H are. sitting around a circle facing the centre. B is second to the
right of D who is third to the right of F.C is second to the left of A who is second the left of
F.G is third to the right of E.

Who is third to the right of H?
A A : B) E (C) B D) -C

Who is sitting to the immediate right of A?
A) B "(B) H C) E (D) D

How many are sitting in between A and G?
A 1 B) 2 ) 3 B 4

Who is the third to the left of E?
(A) C (B) B (Cy A D) G

11 JSA-I
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At (50—53)%%&%%%%3@&%‘

@@a%a'ﬂmﬂA, B, C, D 3ilt E 19 saT¢ 38R 3 HI 3K 7@ Fh T3 2l
B, D % grff 3t 50 Hiex &t gft W 2|

A, B % <f&mr & 60 iex i gt W 21

C, D % ufgem & 40 Hiet i gt W &I

E, A % 3w # 80 Hiet i gl W 2|

Ife wh w1 C & Tt & 3R D ¥ fierar 2, 39 @€ B, A 3t iR @ E fierar 21 afe 3o ¢t 7@
F ieft gt 7@ 1 2, @ 98 fhen e Ien &7

(A). 120 (B) 150 ©) 170 (D) 230
C iR B % o et & freeht gt 27

(A) 55 (B) 85 (©) 90 D) 120
D % gftor-geff fean & =+ @1 27

A A B) E (&) SR D) B
AREFd= H gl |27

A) 170 (B) 80 (€ 90 (D) 60

AL (54-57) o e 24 % foru Freferiaa smenrd i s | ug)

A, B,C,D,E, F, G 3R H T ga & IR 31 Hg At 31 5@ & 93 2| F, C % & & 150 2 3N
H %88 ggudlD,Ca H# i 5t 7 81 E, A 5 1% ¢ 8, 31 g G % 1 & ggu 2l

G 3R D % &= =19 F=1 27

A H (B) D (C) F (D) E
C % &1¢ § gHT FA 27

(A) A B) B (C) E D) D
G 3 C % &= fran st 93 27

A) 1 B) 4 © 2 D) 3
C % 3 el #9287

(A) E (B) B & B M) A

12
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Read the following information for answering the questions (50-53) :

On a play ground A, B, C, D and E are standing as described below facing the North.
B is 50 meter to the right of D

A is 60 meters to the south of B

C is 40 meters to the west of D

E is 80 meters to the north of A

If a boy walks from C and meets D followed by B, A and then E, how many meters has he
walked if he has travelled the straight distance all through?

A 120 (B) 150 (©) 170 (D) 230

What is the distance in meter between C and B? ;
(A) b5 (B) 85 (C) 90 (D) 120

Who is standing in the South-East direction of D?
4) A B) E <€ C ®) B

What is the distance between A and E?
(A) 70 (B) 80 (© 90 (D) 60

Study the following information carefully to answer these questions (54-57) :

A, B, C, D, E, F, G and H are sitting around a circle facing the centre. F is third to the right
of C and second to the left of H. D is not an immediate neighbour of C or H. E is on the im-
mediate right of A, who is second to the right of G.

Who sits between G and D? -
A H (B) D (C) F D) E

Who is second to the left of C? _
A A (B) B (C) E AR 1

How many persons are sitting between G and C?
A 1 B) 4 (C) 2 D) 3

Who is on the immediate right of C?
A) E B) B (C) D D) A
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¥t (58-62) % IR A & ToTu Arferent wh eaA =i

% qhen § i ofit W fage § W 36 % YR W 100 BE 61 SR

fawa 507 ¥ 37
40 37 1 | 30 3 3tfr | 20 3fiw At | 10 3 ity | 0 3k s
wfiferht 9 32 80 92 100
WA 4 21 66 81 100
3 (whet) 7 27 73 87 100

58. T@EA famE # 30 He-3iTh 3 3 Pt et 30 Fe-3AE 3F & T A0 Sl h FEA & =

fpa A 22
@A 3 B) 4
© 5 D) 6

59. afe Wifih & 3= 1o S foe Hifeh § w5 A w9 60% 376 EwES &, d ha sw Wieh |

I I * T g g e
(A) 27 (B) 32
C) 34 (D) 41

60. ol et 9 A HH 40% 3 WIH H Tl bl qor § W fawm § w9 & F9 60% 36 IH A
I BT H @ 1 giawa aEn e 2
A 21% B) 27%
(C) 29% D) 31%

6l. Tl TR 40% B HU 3 TH HA I SE Ht GE@ Feaf 27

A 13 B) 19
© 20 D) 27

62. IR I 7@ 2 % +9 & w9 23 v WA faww 6 @met $ e om E, @ @ wd f e & fo
A fome o = dvaar it i Er F=@ et

(A) 40-45 (B) 30-40
(C) 20-30 (D) 208 %W
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Study the table for answering the questions (58-62) :

Classification of 100 Students based on the Marks Obtained by them in Physics and Chem-
istry in an Examination.

Subject Marks out of 50
40 and above | 30 and above | 20 and above | 10 and above | 0 and above
‘Physics <) 32 80 92 100
Chemistry 4 21 66 81 100
Average (Aggregate) 7 27 73 87 100
58.  What is the difference between the number of students passed with 30 as cut-off marks in

59.

60.

61.

62.

Chemistry and those passed with 30 as cut-off marks in aggregate?
A 3 B) 4
(C) 5 D) 6

If atleast 60% marks in Physics are required for pursuing higher studies in Physics, how
many students will be eligible to pursue higher studies in Physics?

A 27 (B) 32
(C) 34 D) 41

The percentage of number of students getting atleast 60% marks in Chemistry over those
getting at least 40% marks in aggregate, is approximately?

A 21% B) 27%

©) 29% (D) 31%

The number of students scoring less than 40% marks in aggregate is?
A) 13 B) 19
(C) 20 a4y - 51

If it is known that atleast 23 students were eligible for a Symposium on Chemistry, then
the minimum qualifying marks in Chemistry for eligibility to Symposium would lie in the
range? :

(A) 40-45 (B) 30-40
(C) 20-30 (D) Below 20
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63.

64.

65.

66.

67.

68.

69.
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UF R GACE % 91¢ G TH @ F HHA G 1| W Hl BT dish I gl S 9L IHH gE
fop feam <t TR @1?

(A) qj (B) <feqor

(C) ufeem (D) ¥ wE T R

% T F 30 GeE 1 T Sefied e i @en &1 fofa fRn 5 oft 918 aee +iE W gR S
2 o 97 gAfie ¥ aTE @ e 21 3ad o < omen T 21 fasvn fPutfa w0 % foe =man B i
Tt W =R ?

A 15 B) 29
(C) 61 D) 175

wh o § 10 REE 3 12 wari § w9 §1 Q9 % i gl 2 i R i Wi A fwn S
TR 3R & T Hex A gl St 7 ) e ket 27

(A) 20m (B) 22m
(C) 24m (D) 26m

uie geE % qiEr i sied g 24 21 afe ged B gew Y 9du g 8 ¥ &, df wed B HeH
F T % gug afEr il Fg = di?

(A) 209 (B) 16 a4
(©) 1299 (D) 18

w e #, el ot weH % forg =Ean Idviar v wEm 35% 3R 40% 21 TH @S |
483 3% WTH T 117 3ichi & S0l & T wrsfeRat % fore =paw 3efol 37 fohed €7

(A) 425 (B) 520
(C) 500 (D) 525

;ﬁmiqaaﬁﬁ 9,600 § wiigr 3 5% = 7 W = feam| 39 99 B, 39w IR % W 3
38 5% F oW I 99 & 3T Fot /7 haT 87

(A) % 367 (B) ®. 24 &1 o™
(C) % 54 izl (D) %. 36 & @™

T 3 THY T HY H A HA: 9:10 B <@ T T I 3G FT SIC@ HAM: 4:5 AT| THA H
AT 3T FT 7

(A) 2599 : (B) 2099
(C) 3599 D) 2499
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63.. One morning after sunrise, Suresh was standing facing a pole. The shadow of the pole fell
exactly to his right. To which direction was he facing?

(A) East (B) South
(C) West (D) Data is inadequate

64. The 30 members of a club decided to play a badminton singles tournament. Every time a
member loses a game he is out of the tournament. There are no ties. What is the minimum
number of matches that must be played to determine the winner?

. A 15 B) 29
| (C) 61 D) 75

65. In a garden, there are 10 rows and 12 columns of mango trees. The distance between the
two trees is 2 meters and a distance of one meters is left from all sides of the boundary of
the garden. The length of the garden is

(A) 20m (B) 22m
(C) 24m (D) 26m

66. The average age of the family of five members is 24. If the present age of youngest member
is 8 years, then what was the age of family at the time of birth of youngest member?

(A) 20 years (B) 16 years
(C) 12years (D) 18 years

67. In a test, minimum passing percentage for girls and boys is 35% and 40% respectively.
A boy scored 483 marks and failed by 117 marks. What are the minimum passing marks

for girls?
(A) 425 (B) 520
(C) 500 D). 525

68. Seema purchased an item for Rs. 9,600/- and sold it for a loss of 5%. From that money, she

: purchased another item and sold it for a gain of 5%. What is her overall gain/loss?
‘ (A) Loss of Rs. 36/- (B) Profit of Rs. 24/-
] (C) Loss of Rs. 54/- (D) Profit of Rs. 36/-

69.  The ratio of ages of Ram and Rakesh is 9: 10 .respectively. Ten years ago the ratio of their
age was 4 : b respectively. What is the present age of Rakesh?

(A) 25 years (B) 20 years
(C) 35 years (D) 24 years
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72.
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20 <l s 7 F 16 Rl § e a §1 o ww S 20 R i w0y  fove R vt B e

- Enfte
A 12 B) 15
(C) 36 D) 24

260 Thex Tt Th T 120 HeX Tt SR B 19 Tehe # IR HI 31 W 1@ HI T W1 R?

(A) 27 km/hr (B) 49 km/hr
(C) 172 km/hr (D) 70 km/hr

%. 5,000/ 6t T 2 6t § . 6,050/~ B e B A R HB?
(A) 12 % Sfead ; (B) os%srfaaﬁ
(C) 11 % Wiced (D) 10 % Wiead

Tiet SR 1 ufedn 440 HieX =eq § 1rooowm‘é‘|q{%ﬁwa¢m%m%?

(A) 0.44m B) 0.14m
(C) 024m (D) 0.34m

a3t R % 1 kg oo § 20% et 81w 1 g 5% B & Toru et Yo frerredt grfte

(A) 3kg , B) 5kg
(C) 1kg (D) 500 gms

Qﬁqﬂmﬁ,ag%ﬁﬁnasﬁ%s%qa?ﬁﬁ@ﬁﬁwmm: 30% 3 45% 2| TH Ag
280 37 WTH T 80 bl B ST a1 AT wrgfeREl % fore e S<fivl 3ieh 0 E?

(A) 240 (B) 280
(C) 340 (D) 360

4 TR 3 3 SR i HHT 16,500 T 21 WY & 2 UW, 2 Ia W 2 A HHAd 12,000 F
2|t 39a B HWA 1,000 T 2| 3 T T T S H FHT 127

(A) Rs. 8,000 (B) Rs. 8,500
(C) Rs. 7,500 (D) Rs. 9,000
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30 men can do a piece of work in 16 days. How many men would be required to do the same
work in 20 days?

4) 12 (B) 15
() 36 (D) 24

A 260 meter long train crosses a 120 meter long wall in 19 seconds. What is the speed of
the train?

(A) 27 km/hr (B) 49 km/hr

(C) 72 km/hr (D) 70 km/hr

A sum of Rs. 5,000/- amounts to Rs. 6,050/- in two years. What is the rate of interest?
(A) 12%p.a (B) 08%p.a
(C) 11%p.a (D) 10%p.a

The wheel of the motor car makes 1000 revolutions in moving 440 meter. The diameter of
the wheel is

(A) 0.44m (B) 0.14m
(C) 024 m (D) 0.34m

In 1 kg of mixture of sand and iron, 20% is iron. How much sand should be added, so that
the proposition of iron becomes 5%? '

(A 3kg (B) 5kg :
© 1kg (D) 500 gms

In a test, minimum passing percentage for girls and boys is 30% and 45% respectively. A

‘boy scored 280 marks and failed by 80 marks. What are the minimum passing marks for

girls?
(A) 240 (B) 280
(C) 340 (D) 360

Cost of 4 fans and 3 blowers is Rs. 16,500. Also cost of 2 fans, 2 tables and 2 blowers is
Rs. 12,000. Cost of one table is Rs. 1,000. What is the cost of 3 fans and one blower?

(A) Rs. 8,000 (B) Rs. 8,500
(C) Rs. 7,500 (D) Rs. 9,000
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5 TEST 3R 3 wigenait § ¥ 3 weE A1 U wiufy s S @ arfe sEE 1 Afen I 2 R R 3
foram aftenl & fopam < Thar 27
(4) 20 (B) 10

(©) 23 (D) 30

F 60,000 T FIE% F0F TF FGEE L& FE 2| B8 T ¢ WM 1,00,000 T 6T HW
I% WY AT &1 ASEE E FH F TH 99 & 3a ¥, I 1,51,800 T HT AW HAW | A
v 1 fee fham 27

(A) Rs. 55,200 (B) Rs. 69,000
(C) Rs. 62,500 (D) Rs. 96,600

& sufleal % e wh g9 d, a9 IEficar B F A TGl B 60% FTH EIAT| FeA il ¢
25% 3T 1| Hal 1 Fol G@I 8400 oft| wiford Irieam i fhaw wa fiet

(A) 2520 (B) 2680
(C) 2245 D) 2850

T HEE S i e 3: 2 % Fgwa F 21 A Hew F wuE W@ gL AEE F 5 A K g
1 W1l B, A E T T FFBA 2600 AT H B A Hl SIS FR?

(A) 30m (B) 25m
(C) 20m (D) 18m

%, 3uﬁréﬁa'ﬁ§awﬁwﬁf§aﬁwﬁ5@&@&6@1%%;3&&[%3%@%@
Hed T S= W 20% 1 A BT 2, o 39 o § g qu A e 27

(A) 25+fiA B 20
(C) 247X (D) 30

A, B ¥ 21 o9 2 3 B, C & o T A9 31 C g0 3 9 H 7@ Y TS A g b wHA A
i st ?

(A) 15z B) 20 fime

(C) 30 fre (D) 01
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‘ 77.  Out of 5 men and 3 women, a committee of 3 members is to be formed so that it has
‘ 1 women and 2 men. In how many ways it can be done?

[ (4) 20 B) 10

| ©€) 23 D) 30

78. Karan starts a business by investing Rs. 60,000. Six months later Shyam joins him by
investing Rs. 1,00,000.At the end one year from the commencement of business , they earn
a profit of Rs. 1,51,800. What is the Shyam’s share in the profit?

(A) Rs. 55,200 (B) Rs. 69,000
(C) Rs. 62,500 ' (D) Rs. 96,600

79.  In an election between two candidates, the winning candidate got 60% of total valid votes.
25% of the total votes were invalid. The total number of votes were 8400. How many votes
the defeated candidate got?

(A) 2520 (B) 2680
(C) 2245 (D) 2850

80.  The length and breadth of a rectangle are in the ratio of 3 : 2. If length is increased by
5 meter keeping the breadth same, the new area of rectangle is 2600 sq.mtrs. What is the
breadth of the rectangle?

(A) 30m B) 25m
C©) 20m (D) 18m

81. 5 litres of water is added to a certain quantity of pure milk costing Rs. 3 per litre. If by
selling the mixture at the same price as before, a profit of 20% is made, then what is the
amount of pure milk in the mixture?

(A) 25 litres (B) 20 litres
(C) 24 litres (D) 30 litres

82.  Ais twice as fast as B and B is thrice as fast as C is. The journey covered by C in 1% hours
will be covered by A in

(A) 15 minutes (B) 20 minutes
(C) 30 minutes (D) 01 hour
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83. Bl & UH Gagw § 40% T3 T 2 A A & A o &) B al # e T =t o, 3 | 25%
et 7oy 9| Tt Bl o wiwrd w0 2, fow di o Higen @ 3 1E gew 2 87

A) 75% B) 40%
(C) 45% (D) 25%

84, T YA F T 400/~ F WH WE. 350/~ F = § 7l F1 wfeww 5% 7@ A B1 oA N H oA

FB?
(A) Rs. 400/ (B) Rs. 1,000/-
(C) Rs. 800/- (D) Rs. 500/-

85. ATH FW 12 R § G H wehdr 21 A 3R B frem 3wt Fm w8 T # qu R whd & B 31l

38 M i had feAl § 0 o Tt 27
a) 28fa ®) 16fa
(©) 18 f | (D) 24fa

- 86. T e Hu R S wne wen § Rkt ot Fant § safe HE e 21 At 1369 I
£, @ sifer dfts § =t $i @en Fead 27
A) 37 (B) 33
€ 63 D) 47

87. 33’6@1313’(2?%?113??13%BH@ﬁ@mﬂwﬁmW%lﬁ%ﬁﬂﬁm@ﬂ%ﬁ

2 F F GUEAT R ?
A) 1710 (B) 9/20
(C) 9/10 (D) 1/20

g8, @ i 6 HEm F 3w W1 oG § FCeR ¥ YW TSN I6 GO & 63 FA 2| A HESA F IH H
T 11 B, @ G G R 7

(A) 56 (B) 83
(C) 174 D) 92
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83. In a recent survey‘ 40% houses contained two or more people. Of those houses confaining
only one person, 256% were having only male. What is the percentage of all houses, which
contains exactly one female and no male?

A 7% : (B) 40%
(C) 45% D) 25%

| 84. By selling a table for Rs. 350/- instead of Rs. 400/-, loss percentage increases by 5%. The
cost price of the table is

(A) Rs. 400/- (B) Rs. 1,000/-
(C) Rs. 800/- (D) Rs. 500/-

85. A can complete a piece of work in 12 days. A and B together can complete the same piece of
work in 8 days. In how many days B alone can complete the same piece of work?

(A) 28days (B) 16 days
(C) 18 days (D) 24 days

86. A teacher wants to arrange his students in an equal number of rows and columns. If there
are 1369 students, the numbers of students in the last row are

A) 37 (B) 33
(C) 63 (D) 47

87. A committee of 3 members is to be selected out of 3 men and 2 women. What is the
probability that the committee has atleast one woman?

(A) 1/10 (B) 9/20
© 910 (D) 1/20

88. The number obtained by interchanging the digits of a two digit number is less than the
original number by 63. If the sum of the digits of the number is 11, what is the original

number?
(A) 56 (B) 83
€ 174 (D) 92
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89,  HUNUl SFS W YW € M R 2 9 F 790/- TR 3T IGH W 5 a9 hH I & ¢ 1,020/-
T B S 21 € uf fRah 2

(A) % 710 (B) % 500
(C) % 700 : (D) % 600

- 90. mwmﬁmmf@a@%sﬁmm@ﬁﬁ@ﬁamﬁwmw%mml
o a7 -31e =59 fohy S hd 37

(A) 56 (B) 112
€ 14 (D) 92

91.  #H A, 20 km/h 1 TR & 31 Frter 10 fire A wgea §1 sl SR 98 St Tf 5 km/h @
a1 2, aife R oft 4 fie 3 @ 3 B1 36 R & wwter Hi gl fead 27

(A) 20km (B) 6km
(©) 12km (D) T & HIg Tl

ﬁmmﬁﬁqﬁaﬁm%mm@mﬁ%m

92. ﬁ@z%wwﬁmm%tagﬁs,agaqﬁq@aﬁmaﬁaﬁsvmﬁﬁaﬁﬂmélﬁﬁzaﬁ 1
et A 23 F 50 fre 1 T e 21 AR Rl S @ W e o ®m §, @ IEe e A, S
3t et F wan R, - 3Eh foe I et wem

(A) oz o uime o & vgH @ @ B :

(B) TH® & A 3 F 50 fime & Saer w9 e 21

(©) e faie st feefiadl & Fian & o S Sie 2 Bl
(D) &fd T e I TR F T =&l &l '

93. Wﬁﬁ,%ﬁaﬁﬁaﬁaﬁaﬂr@%@ﬂﬁﬁﬁéﬁmm%mwmaﬁm
Te 3i wreh Gt g § fardt §1 oft i Si et S A @ S SHET TEE S R

(A) o T i glewt o 3R I § A AT 2
(B) +ft g % wedE @i gee T8 2l

(©) et g 3 afewal gehr € St oAt e I g
(D) #fadt Fias @ el T o I T § HA A 2
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89. A sum of money lent out at simple interest amounts to Rs. 720/- after 2 years and to
Rs. 1,020/- after a further period of 5 years. The sum is

(A) Rs. 710 (B) Rs. 500
(C) Rs. 700 (D) Rs. 600

- 90. A school team has eight volley ball players. A five member team will be selected out of
these eight players. How many different selections can be made?

(A) 56 : B) 112
© 174 D) 92

91. Mr. A, at a speed of 20 km/h reaches his office 10 min late. Next time he increases his
speed by 5 km/h, but is still late by 4 min. What is the distance of office from his house?

(A) 20km (B) 6km
(C) 12km . (D) None of these

Find the statement that must be true according to the given information.

92. Vincent has a paper route. Each morning, he delivers 37 newspapers to customers in his
neighborhood. It takes Vincent 50 minutes to deliver all the papers. If Vincent is sick or
has other plans, his friend Thomas, who lives on the same street, will sometimes deliver
the papers for him. -

(A) Vincent and Thomas live in the same neighborhood

(B) It takes Thomas more than 50 minutes to deliver the papers
(C) It is dark outside when Vincent begins his deliveries
(D) Thomas would like to have his own paper route

! 93.  Inweekends, Mr. Sanchez spends many hours working in his vegetable and flower gardens.
' Mrs. Sanchez spends her free time reading and listening to classical music. Both
Mr. Sanchez and Mrs. Sanchez like to cook.

(A) Mr. Sanchez enjoys planting and growing vegetables
(B) Mr. Sanchez does not like classical music
(C) Mrs. Sanchez cooks the vegetables that Mr. Sanchez grows

(D) Mrs. Sanchez enjoys reading nineteenth century novels

25
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Question Figures

o] [m) (m)

Answer Figures

(a) (b) © e
AL @) b
¢ s
95. wre wiaw H1 weEH 0 HH A EE 27
IRERRARA
v R
" T |4
. @ |- © |1l
® |11} @ |]1
A) b S i
ey D) ¢
06, Pt & 4 i @ gad & e A7
al+] | [+]a] | |210] | [C2] | &Y
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94. Which is the correct one to replace the question mark?

Question Figures

ST -

Answer Figures

QA |ICT|A

(a) (b) (e) (d

(A) B) b
©€) ¢ D) d

o

95.  Which is the correct one to replace the empty box?

fritiin
=1 |-}
Tl
@l © |1l
® (11 @ (|1
@A) b ®) d

(C) a D) ¢

96.  Which of the following is different from others?

al+] | [+]a] | [alo] | [ol=] | [alv
(0] i =] Q) x|V +|0 Olo
X |V V| X ol + x|V X |+
1 2 3 4 5

@) 3 - ® 4

© 2 , O 5
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97. At H QU FEEER B B TETH

%‘? VA

A 1 B 2
C 3 D) 4.

98. ﬁqwéﬁaqaﬁramgﬁaﬁﬁa@ﬁaﬁﬁwmwﬁl

NUCLEAR
(1) KVEICuUM (2) UNCIEVYE
(3) UCI3vE (4) ANCT EVE
A 1 B) 2
© 3 D) 4

99. @Wﬁﬁ@xﬁrﬁﬁ%aﬁiﬂiﬁﬂﬁﬁqﬂaﬁ{mﬁﬁqmaﬁﬁﬁ@ﬁ%?

2 &)
3 3

i 5
@A 1 ' @ P
(C 6 (D) 4

100, i & g1 1 wEn 7@ AR

(A) 18 (B) 20
(C) 16 (D) 19
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Identify the figure that completes the pattern.

B 5o e

1 2

@ 1 ®) 2
© 3 C P

\

1=

Choose the alternative which is closely resembles the water-image of the given
combination.

NUCLEAR

(1) BYETCUM (2) UNCIEVE

(3) MUCravy (4) UNCTr EVE

A 1 B) 2
© 3 D) 4

Two positions of a dice are shown below: Which digit will appear to the opposite side
face to 3?

s 3
1 5
A 1 B) 5
(C) 6 D) 4

100. Find out the number of circles in the figure :

(A) 18
(C) 16
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wiE afvarea ggEs (|1, &, & 9.) & ug &t udi, fagm= 9. 012019

FayERa AT 2GC 30 fae. el 3 : 500
Tl T 3ead &t @ Uge Mo el H Cue 498
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